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MATHS

BOOKS - RS AGGARWAL MATHS (HINGLISH)

INTEGRATION USING PARTIAL FRACTIONS

Solved Examples

2z — 3
1. Resolve ° into partial fractions .
(z+3)(z+1)

o Watch Video Solution

z3 — 222 — 13z — 12 _ )
2.Resolve into partial fractions.
z? — 3z — 10

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_EOSPDjpGfsGe
https://dl.doubtnut.com/l/_zgHuoLTzol0l
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3.Resolve into partial fractions.

(z - 2)(z +2)°

o Watch Video Solution

2z + 1 , . .
4.Resolve into partial fractions.
(z —1)(z%2+ 1)

o Watch Video Solution

r—1
5. Evaluate: / dz
(z+1)(z—2)

o Watch Video Solution

241
6. Evaluate: / iy dz
2 —bxr +6

o Watch Video Solution



https://dl.doubtnut.com/l/_zgHuoLTzol0l
https://dl.doubtnut.com/l/_O1zIJANxwmQE
https://dl.doubtnut.com/l/_eONiT3cpRUa2
https://dl.doubtnut.com/l/_XmhYIUFlsjl5
https://dl.doubtnut.com/l/_W8QAEtjM3rIg

3z — 2
7. Evaluate: 5 dx
(z+1)"(z +3)

o Watch Video Solution

8. Evaluate / dz .
(23 + 22+ 2+ 1)

o Watch Video Solution

/ x* dx
9. Evaluate:
(z —1)(x2 4+ 1)

° Watch Video Solution

3
10./ TS g
3 —z? -z +1

o Watch Video Solution



https://dl.doubtnut.com/l/_W8QAEtjM3rIg
https://dl.doubtnut.com/l/_Tmbkw4uij2LF
https://dl.doubtnut.com/l/_CI5MGpChxmEn
https://dl.doubtnut.com/l/_5WzjrVf7IO0h
https://dl.doubtnut.com/l/_mGXOELRIJjcS
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11. Evaluate: /:B dz
3+

o Watch Video Solution

COS T

12. Evaluate /( dz.

1 —sinz)(2 — sinz)

o Watch Video Solution

13. Evaluate/ dz .
a:{ﬁ(loga:)2 + Tlogz + 2}

o Watch Video Solution

CE2

14. Evaluate dx.
/<1+x3>(2+m3> ’

o Watch Video Solution



https://dl.doubtnut.com/l/_mGXOELRIJjcS
https://dl.doubtnut.com/l/_jX2MciUlyq4a
https://dl.doubtnut.com/l/_2ZusRQNAkMbe
https://dl.doubtnut.com/l/_ajjfUes1ZZkb
https://dl.doubtnut.com/l/_hZa8zP7QuOwR

15. Evaluate /d—:c
(e — 1)

o Watch Video Solution

16. Evaluate /d—:C
z(zm + 1)

o Watch Video Solution

17. Evaluate: /d—x
z(z® + 3)

o Watch Video Solution

$2

18. Evaluate :/ dzx
(22 +4)(z%2 +9)

o Watch Video Solution



https://dl.doubtnut.com/l/_hZa8zP7QuOwR
https://dl.doubtnut.com/l/_ka7IP6vVDhWI
https://dl.doubtnut.com/l/_HsQAYTTh49Hh
https://dl.doubtnut.com/l/_71mz6eg8wkI5
https://dl.doubtnut.com/l/_rbFU8FlBQ4uL

z—1)(z—2)(z—3)
19. Evaluate: /EZU “0)(z —5)(z —6) dr

o Watch Video Solution

20 | (:132 + 1) (ac2 + 2) p
. Evaluate: /(az2 n 3)(332 n 4) x

o Watch Video Solution

_ (3sinf — 2)cos
21.Find : / dthng.
5 — cos?0 — 4sinf

o Watch Video Solution

tan 6 + tan? 0
22, Evaluate:/a'n + tan dthn

1+ tan® 60

o Watch Video Solution



https://dl.doubtnut.com/l/_rbFU8FlBQ4uL
https://dl.doubtnut.com/l/_T5VTOJy9aJGR
https://dl.doubtnut.com/l/_O0d6rzcULF4g
https://dl.doubtnut.com/l/_sRtOEywQ9A5G
https://dl.doubtnut.com/l/_OKKObfiAuxJ7

dx
23. Evaluate - - .
(sinz — sin2z)

o Watch Video Solution

1 —coszx
24./ dx
cos (1 + cos x)

o Watch Video Solution

2
1
25. Evaluate: /:c——i_2 dz
(z+1)

o Watch Video Solution

Exercise 15 A


https://dl.doubtnut.com/l/_OKKObfiAuxJ7
https://dl.doubtnut.com/l/_XJb1j4xh3jWa
https://dl.doubtnut.com/l/_qPKXsaHYk2UL
https://dl.doubtnut.com/l/_hUBge7hXF6g3

dz
1. Evaluate :/—
z(z + 2)

o Watch Video Solution

/ 2¢ + 1
2. Evaluate:
(z —2)(z —3)

o Watch Video Solution

3'/(.7; G2 @

o Watch Video Solution

4'/m<w = Z)( By

° Watch Video Solution



https://dl.doubtnut.com/l/_FCNFcnIzElhh
https://dl.doubtnut.com/l/_j4iNaRNKl7dE
https://dl.doubtnut.com/l/_iBKhpGZJo0Io
https://dl.doubtnut.com/l/_YCF8lWwE8IQD
https://dl.doubtnut.com/l/_hWZIvLqwWU8f

2z — 1

5. Evaluate: /(cc D12 =3 dr

o Watch Video Solution

(z — 1)
o /(m —1)*(2z + 3) e

° Watch Video Solution

2 5
7. Evaluate: /L dz
)

—x — 2

o Watch Video Solution

2
8. Evaluate: /:1: +oz +3 dx
2+ 3z 4+ 2

o Watch Video Solution



https://dl.doubtnut.com/l/_hWZIvLqwWU8f
https://dl.doubtnut.com/l/_lmywdZDHoarq
https://dl.doubtnut.com/l/_WI3vOAwCEpv7
https://dl.doubtnut.com/l/_KEOfS4Zf2hEj
https://dl.doubtnut.com/l/_J3YtW2hluhyr

x2 + 1
9. Evaluate: 5 dz
s —1

o Watch Video Solution

3
10. /m—daz
(z2 — 4)

o Watch Video Solution

3 2
11. Evaluate: / 4w — T dz
(z+2)(xz —1)

o Watch Video Solution

23
12. EvaIuate:/ dzx
(z — 1)(z —2)

° Watch Video Solution



https://dl.doubtnut.com/l/_J3YtW2hluhyr
https://dl.doubtnut.com/l/_QrI9poA91CC6
https://dl.doubtnut.com/l/_LgjQLmwE3Oiw
https://dl.doubtnut.com/l/_XNrX8RF1q7in

13./(x3_x_2)da:

(1—2?)

o Watch Video Solution

(2z 4+ 1)
14. Evaluate/
(4 — 3z — z?)

o Watch Video Solution

2
15. Evaluate : d
valuate /(m2—|—1) (m2+3) T

o Watch Video Solution

16 / cos T da
"J (1 +sinz)(2 + sinz)

° Watch Video Solution



https://dl.doubtnut.com/l/_RSrfipFwNU1J
https://dl.doubtnut.com/l/_h5h7DvSgMYxS
https://dl.doubtnut.com/l/_gKcdquuSzipy
https://dl.doubtnut.com/l/_Kg856BE75qaK

17/ sec’ ¢ d
"J (24 tanz)(3 + tanz) v

o Watch Video Solution

18 / sinx cos d
. x
(cos?z — cosz — 2)

o Watch Video Solution

X
19. Evaluate:/ € dx
e2r + 5e? 4 6

o Watch Video Solution

20. / € dz
(e3¢ — 3e?® — e + 3)

o Watch Video Solution



https://dl.doubtnut.com/l/_ly9qxpQUayLQ
https://dl.doubtnut.com/l/_TdKkWBVsvDe0
https://dl.doubtnut.com/l/_XBvLySRTQIlL
https://dl.doubtnut.com/l/_BoxNIxEh0bwd
https://dl.doubtnut.com/l/_4sl4DvgdUqAB

2logx

21./ dz
x [2(10gw)2 —logz — 3

o Watch Video Solution

2

cosec’x

22./ > de = 7
(1 — cot a:)

o Watch Video Solution

2logx

23./ dx
x [2(10gar:)2 — logx — 3}

o Watch Video Solution

sin 2x

24. Evaluate: / - —dx
(14 sinz)2 + sinz

o Watch Video Solution



https://dl.doubtnut.com/l/_4sl4DvgdUqAB
https://dl.doubtnut.com/l/_40Cb0KyUTUj0
https://dl.doubtnut.com/l/_F3JHX6XDO67A
https://dl.doubtnut.com/l/_bigTQDeDurmi

e:c
25. ———dz
e?(e® — 1)

o Watch Video Solution

26. /%

° Watch Video Solution

2
27, [ e
z(1— 2z)

o Watch Video Solution

(932 +x+ 1)
. dx
“ /(:c+2)(:c+1)2

o Watch Video Solution



https://dl.doubtnut.com/l/_bigTQDeDurmi
https://dl.doubtnut.com/l/_OgwcclwDTGuC
https://dl.doubtnut.com/l/_6ytLcATv7YqT
https://dl.doubtnut.com/l/_LIHNFv41LeqK
https://dl.doubtnut.com/l/_3uYBgwlZPcIf

(2z +9)
> /(sc e

o Watch Video Solution

2
1
30. Evaluate: / v ;_ dz
(z — 1)"(z + 3)

° Watch Video Solution

31. /( (:c2 - 1) dx

z+ 3)(z —3)

o Watch Video Solution



https://dl.doubtnut.com/l/_3uYBgwlZPcIf
https://dl.doubtnut.com/l/_47C5NLVThCHA
https://dl.doubtnut.com/l/_lly1mNhLrRvX
https://dl.doubtnut.com/l/_PPX7dqzVKTUA
https://dl.doubtnut.com/l/_kXe70SkWPvJu

I ™ Vvvaldil vigco o>0iution

2
33. /—2dm
(2z + 1)

o Watch Video Solution

3z + 1
34 /(:B + 2)(z — 2)2 d

o Watch Video Solution

(5x + 8)
35. /—x2(3x ry dx

o Watch Video Solution

dzx

(52* — 18z 4 17)
36’/(3[,- —1)%(2z — 3)

[ ——


https://dl.doubtnut.com/l/_kXe70SkWPvJu
https://dl.doubtnut.com/l/_geJZrh5dKrZO
https://dl.doubtnut.com/l/_fY2m3k9UPIZk
https://dl.doubtnut.com/l/_yCc3VXxmiK7y
https://dl.doubtnut.com/l/_ccLWf4u0e3nd

| o Watch Video Solution

dx

8
37 /(a: + 2)(? + 4)

o Watch Video Solution

3 5
38./ T dz
2 —22 -z +1

o Watch Video Solution

2
39. Evaluate :/ v dx
(22 +1) (22 + 3)

o Watch Video Solution



https://dl.doubtnut.com/l/_ccLWf4u0e3nd
https://dl.doubtnut.com/l/_NEpkiNUXPmXL
https://dl.doubtnut.com/l/_jYmaAEoYjqCX
https://dl.doubtnut.com/l/_3DhJMrg9loYJ
https://dl.doubtnut.com/l/_bZZY0gH7Qfez

| & Watch Video Solution

41. /d—xdaz
(3 —1)

o Watch Video Solution

42. /(:c3d——T—1)

o Watch Video Solution

dx

o Watch Video Solution

17
44. / IRk



https://dl.doubtnut.com/l/_bZZY0gH7Qfez
https://dl.doubtnut.com/l/_PvPmAfdI2C9t
https://dl.doubtnut.com/l/_i3PrGx7cT4N7
https://dl.doubtnut.com/l/_ZRExZWBhAeeg
https://dl.doubtnut.com/l/_LBQLI5h91S3G

| & Watch Video Solution

dr
4. /(ac2 + 2)(x? + 4)

° Watch Video Solution

132

46. /(932 + 4)(z% + 25) de

o Watch Video Solution

47. /ﬁ

o Watch Video Solution

48, /d_w
z(z® + 1)

[ ——


https://dl.doubtnut.com/l/_LBQLI5h91S3G
https://dl.doubtnut.com/l/_Dt8FloTnNCiA
https://dl.doubtnut.com/l/_UulqqvoJvhiL
https://dl.doubtnut.com/l/_XRfHYeDpQMZQ
https://dl.doubtnut.com/l/_AMeh15DmLvns

| o Watch Video Solution

49. /d_fﬂ
z(zb + 1)

o Watch Video Solution

50./ da
sinz(3 + 2cos z)

o Watch Video Solution

1
51./ - dx
cos z(b — 4sinz)

o Watch Video Solution

52 /d_w
sin z cos? x

|


https://dl.doubtnut.com/l/_AMeh15DmLvns
https://dl.doubtnut.com/l/_kvv7oW8uCeNh
https://dl.doubtnut.com/l/_JPhLvmybVGYY
https://dl.doubtnut.com/l/_VgllWQgbZEQT
https://dl.doubtnut.com/l/_HDxeKB1Y1CuZ

| & Watch Video Solution

tanx
(1 —sinx)

o Watch Video Solution

54, / da
(sinx + sin2z)

o Watch Video Solution

5172

55. Evaluate: / dzx
x4 — 22 —12

o Watch Video Solution

2134

8- / 10"

| -


https://dl.doubtnut.com/l/_HDxeKB1Y1CuZ
https://dl.doubtnut.com/l/_0vXjZmCPzt5D
https://dl.doubtnut.com/l/_l39McUPvXChm
https://dl.doubtnut.com/l/_R2vJfGKu7JTB
https://dl.doubtnut.com/l/_V6SnqFlRNzT8

| & Watch Video Solution

57 sin 2z d
"3 " 2c0os 2z

o Watch Video Solution

2
58. Evaluate: / dz
(1—2)(1+ z2)

° Watch Video Solution

2
59. Evaluate: /ﬂ dzx
z?(z? 4 4)

o Watch Video Solution

Exercise 15 B


https://dl.doubtnut.com/l/_V6SnqFlRNzT8
https://dl.doubtnut.com/l/_U1pc0VUv9e95
https://dl.doubtnut.com/l/_WaDTzxp4Xj1N
https://dl.doubtnut.com/l/_lQIDyJi2DzQX
https://dl.doubtnut.com/l/_iGnfRvnJqTl0

1.%:;—6 dx

° Watch Video Solution

2./<ﬁ+ %) d

o Watch Video Solution

3. /sin 3xdx

o Watch Video Solution

22
4, Evaluate: / dx
14+ 23

° Watch Video Solution



https://dl.doubtnut.com/l/_iGnfRvnJqTl0
https://dl.doubtnut.com/l/_zzNP0kr6VaTU
https://dl.doubtnut.com/l/_6vsoXHfdWruQ
https://dl.doubtnut.com/l/_cVOLPUWxYjnL
https://dl.doubtnut.com/l/_6frZEvKg7QMA

2cosx
5./ 5 dz,
3sin“ x

o Watch Video Solution

(3sin¢g — 2) cos ¢
6./5 — cos? ¢ — 4sing d

o Watch Video Solution

7. /sin2 dx

o Watch Video Solution

1 2
8/( og) dx.
T

o Watch Video Solution



https://dl.doubtnut.com/l/_6frZEvKg7QMA
https://dl.doubtnut.com/l/_3qppHRp0nDEq
https://dl.doubtnut.com/l/_3mkGNrqyqr2b
https://dl.doubtnut.com/l/_S5pqXCl49J6J
https://dl.doubtnut.com/l/_MLYGBVDHEF1k

dx

/(x + 1)(z + logz)
o.
2z

o Watch Video Solution

sinx
0. [ s,
(1+ cosx)

o Watch Video Solution

1+t
11./ ( anz) dx
(z — logcos x)

° Watch Video Solution

1 — cot
2. /ﬂdx.

(1 + cot x)

o Watch Video Solution



https://dl.doubtnut.com/l/_MLYGBVDHEF1k
https://dl.doubtnut.com/l/_RLqv7LTyRKem
https://dl.doubtnut.com/l/_1EUtSLch7zti
https://dl.doubtnut.com/l/_R1Z4Mrf7QeuZ
https://dl.doubtnut.com/l/_AYVrQ3NXoGNu

B, /( (1 4 cot x)

z + logsinz)

o Watch Video Solution

1 — sin2x
14. Evaluate: [——— dxz
x + cos2 x

o Watch Video Solution

5. /‘*Md
xr

o Watch Video Solution

" in(2ta,n_1 a:) p
f I+ah)

o Watch Video Solution



https://dl.doubtnut.com/l/_AYVrQ3NXoGNu
https://dl.doubtnut.com/l/_ZQAa3cNMHHYC
https://dl.doubtnut.com/l/_ydKrVbChs8ZB
https://dl.doubtnut.com/l/_0XzHMj0XdZSa
https://dl.doubtnut.com/l/_C1eLBKmBb3Dl

2
17./tan:vsec T .
(1 — tan? a:)

° Watch Video Solution

4
18. Evaluate: /a: +1 dx
x?2 +1

° Watch Video Solution

1 /1 —sinz
19. [tan —  dx
1+ sinx

o Watch Video Solution

20. ﬁog(l + a:z) dzx.

o Watch Video Solution



https://dl.doubtnut.com/l/_C1eLBKmBb3Dl
https://dl.doubtnut.com/l/_UfYAxOE7W5Vu
https://dl.doubtnut.com/l/_oqAeD60VZfgX
https://dl.doubtnut.com/l/_Hg29nIjNowTF
https://dl.doubtnut.com/l/_a8vnp1uThbpC

21. /305 x cos 3xdzx

o Watch Video Solution

22. /sin 3z sinxzdzx

° Watch Video Solution

23. /L2dm
(z+1)

° Watch Video Solution

24. /e””(tana: — log(cos x))dx =

o Watch Video Solution



https://dl.doubtnut.com/l/_a8vnp1uThbpC
https://dl.doubtnut.com/l/_n41cV1LHwp8s
https://dl.doubtnut.com/l/_C5u95zmPmsAu
https://dl.doubtnut.com/l/_gGWaSi5W7Fub
https://dl.doubtnut.com/l/_YU6B3oWuBuOn

2 [
1 —sinx

o Watch Video Solution

26. ﬁcos rldz

o Watch Video Solution

cot x

27. Evaluate: / dx

sinx

° Watch Video Solution

28, /idm

cosec 2z

o Watch Video Solution



https://dl.doubtnut.com/l/_YU6B3oWuBuOn
https://dl.doubtnut.com/l/_IVgGhKr1Jrny
https://dl.doubtnut.com/l/_q9DPXe6jqRRL
https://dl.doubtnut.com/l/_TZAZCfioUqhc
https://dl.doubtnut.com/l/_uUsrhEzoR1Sg

29. /(sin_ '(cosz)). dz

o Watch Video Solution

dz
30'/(\/J:+2+\/w+1)

o Watch Video Solution

31. [27 dx

° Watch Video Solution

32./( (14 tanz) "

x + logsecz)

o Watch Video Solution



https://dl.doubtnut.com/l/_uUsrhEzoR1Sg
https://dl.doubtnut.com/l/_DshlG9Gz5UH5
https://dl.doubtnut.com/l/_2NkyULrmosJL
https://dl.doubtnut.com/l/_rJjIk2aX829E
https://dl.doubtnut.com/l/_LsxHsTKpXf3v

ec2(lo
33. /s#da:

o Watch Video Solution

34./(2ac + 1)<\/3:2 +z+ 1)dac

o Watch Video Solution

dz
35. /—
922 + 16

° Watch Video Solution

dz
36./— =7
V4 — 92

o Watch Video Solution



https://dl.doubtnut.com/l/_LsxHsTKpXf3v
https://dl.doubtnut.com/l/_sHUxNRb9fGpo
https://dl.doubtnut.com/l/_Wr6xxskUEEVo
https://dl.doubtnut.com/l/_6H2WFANdKhFt
https://dl.doubtnut.com/l/_BtEloc5a1Zia

dz
37, /—
v4azx? — 25

o Watch Video Solution

38. Write a value of/ 4 — 22 dx

o Watch Video Solution

39. Write a value of/ 9+ 22 dx

o Watch Video Solution

40./ z? —16dz = ?

o Watch Video Solution



https://dl.doubtnut.com/l/_BtEloc5a1Zia
https://dl.doubtnut.com/l/_eCZWQ4IiwJYX
https://dl.doubtnut.com/l/_QYngNJOeK64Y
https://dl.doubtnut.com/l/_b1DFM1m47RY1

Objective Questions |

1./(91—“;2):?

A.ta,n_li +C
3
1 T
B. —tan ! =
3tan 3 +C

c.3ta,n‘1%+c

D. None of these

Answer: B

o Watch Video Solution

2. /d—x _ 2
(4 + 1622)

1
A —tan 14
32ta,n z+C


https://dl.doubtnut.com/l/_2DmSZ4K7tnYq
https://dl.doubtnut.com/l/_219TXa5Wg5jA

1 T
B.—tan ' =

16ta.n 5 +C
C.—tan '2z + C

D. —tan ! z + C

Answer: C

o Watch Video Solution

&/_Ei_mz?
(9 + 422)

1 2
A —tan ! =
2tan 3 + C

1 2x
B. —tan ! =

5 an 3 +C
3z

1
C.—tan ! —
6an 5 +C

D. None of these

Answer: B



https://dl.doubtnut.com/l/_219TXa5Wg5jA
https://dl.doubtnut.com/l/_xQL3IIJbJHO0

| & Watch Video Solution

4EIt()/ d(")/zmgd
valuate: (I —_— ax \Il X
+COS2 4+ z8

A —tan"!(cosz) + C
B.cot '(cosz) + C
C.—cot !(cosz) + C

D.tan '(cosz) + C

Answer: A

o Watch Video Solution

5. /ﬂ e
1+ sin?

A —tan '(sinz) + C


https://dl.doubtnut.com/l/_xQL3IIJbJHO0
https://dl.doubtnut.com/l/_n5h70VBAd20T
https://dl.doubtnut.com/l/_lPxbPfCN9AS7

B.tan !(cosz) + C
C.tan '(sinz) + C

D. —tan '(cosz) + C

Answer: C

° Watch Video Solution

e
6. | ——dzx ="
/(62.1: + ]_) L

A.cot " 1(e*) + C
B.tan '(e”) + C
C.2tan (&%) + C

D. —tan '(cosz) + C

Answer: B



https://dl.doubtnut.com/l/_lPxbPfCN9AS7
https://dl.doubtnut.com/l/_2ouSnFJ7csyr

| & Watch Video Solution

D. None of these

Answer: C

o Watch Video Solution

3
8. /Lda; =7
(4 +2°)

4

1 T
A —t -1
2a,n 2+C


https://dl.doubtnut.com/l/_2ouSnFJ7csyr
https://dl.doubtnut.com/l/_ceyhj35YoYNr
https://dl.doubtnut.com/l/_8uCDwy5erScS

D. None of these

Answer: B

o Watch Video Solution

9./ dz —?
(222 +z + 3)

1 2
A.—tan_l(m+ )—l—C’

2 2
1 T+ 2

1
C. Etan_l(ac +2)+C

D. None of these

Answer: A



https://dl.doubtnut.com/l/_8uCDwy5erScS
https://dl.doubtnut.com/l/_2mx3XbDgL7yD

| & Watch Video Solution

tan

b E‘
w
-+
)
}3
/\/\/\

D. None of these

Answer: C

o Watch Video Solution

/ dz
. |————
et +e %

A.tan"'(e®) + C


https://dl.doubtnut.com/l/_2mx3XbDgL7yD
https://dl.doubtnut.com/l/_EFjXPNoxTzbL
https://dl.doubtnut.com/l/_EtYcClxM88gv

B.tan_l(e_x) +C
C. —ta,n_l(e_w) +C

D. None of these

Answer: A

o Watch Video Solution

22
2 /—d:c
9 + 4zx2

x 1, Sz
A.Z—gtall §+C

x 3, _qx
B.Z—gtan E‘I‘C

T 3 4 2z
C.4—8tan 3 + C

D. None of these

Answer: C



https://dl.doubtnut.com/l/_EtYcClxM88gv
https://dl.doubtnut.com/l/_u8FWroXNMHh4

| & Watch Video Solution

2 _
13. Evaluate: /ac 1 dzx
x2 4+ 4

5
B.z — §tan_1§—|—0
5% 4
C.x — Etan_l 7 +C

D. None of these

Answer: B

o Watch Video Solution

dz (i)

1
14. Evaluate: (i) /

4 + 92
/ 1
——dz
16 — 9x:2

2 4 3T

/ﬁ dx (i)



https://dl.doubtnut.com/l/_u8FWroXNMHh4
https://dl.doubtnut.com/l/_2Az8jbjmnjU4
https://dl.doubtnut.com/l/_fz7F4cwFFh82

D. None of these

Answer: C

o Watch Video Solution

15/ dz
(4x? — 4z + 3)

1 (2w-1
A. —tan +C
V2 V2

1 f22-1
B. tan +C
2¢/2 V2
1 20 — 1
C.——tan! v + C
V2 V2

D. None of these

Answer: B



https://dl.doubtnut.com/l/_fz7F4cwFFh82
https://dl.doubtnut.com/l/_wCoVJjX9hD13

| o Watch Video Solution

6 / dx
. (sin4 x + cost ZB)

1 tan2z — 1
A. —tanl( i >—|—C’

\/5 \/étanm
1 tan’z — 1

B. —tan ! e o + C
V2 tanz

1 1
C.—tan | —— | + C
\/§ (\/itana:)

D. None of these

Answer: A

o Watch Video Solution

2
17./ Tl
x4+ 22 +1

2 _1
A.tan_lu + C

/3


https://dl.doubtnut.com/l/_wCoVJjX9hD13
https://dl.doubtnut.com/l/_8QjYdcFzACeG
https://dl.doubtnut.com/l/_F3eoz4na36wb

D. None of these

Answer: C

° Watch Video Solution

in(2
18. / sin(22) dx
S

in*z 4 costx
A.ta,m_l(tan2 :c) +C
B.z2 4+ C
C.—tan" '(tan’z) + C

D. None of these

Answer: A

[ -


https://dl.doubtnut.com/l/_F3eoz4na36wb
https://dl.doubtnut.com/l/_j005NM6lEf4f

| @Y Watch Video Solution

o [
(1 — 922)

1+ 3z

1
A. —log

318|735 | T ¢
B.%logilzi e
C.%logitzz +C
D.%logilgz +C

Answer: C

o Watch Video Solution

20. /d—m = 7
(16 — 4x?)

2—x
2+

+C

All
- glog



https://dl.doubtnut.com/l/_j005NM6lEf4f
https://dl.doubtnut.com/l/_PHx6oPMPXXJC
https://dl.doubtnut.com/l/_lxwuyvyqMDgR

B1
16
1

C. glog

1
6

2—
2+zx
2+zx
2—x
2+ x
2—x

+C

log

+C

D. +C

log

Answer: D

o Watch Video Solution

21/ AP
o (1_336) r = !

1 14 a3
A Elog 3
B. llog L2

6 1+ 23

1. [1—23

C.—lo
3 & 14 23

+C

+C

+C

D. None of these

Answer: A



https://dl.doubtnut.com/l/_lxwuyvyqMDgR
https://dl.doubtnut.com/l/_HqitTaEBQFhZ

| & Watch Video Solution

1
A Zlog +C

+C

1
B. —lo
4 8 1+ z2

1+ z2
2

1
C. Elog +C

1—=x

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_HqitTaEBQFhZ
https://dl.doubtnut.com/l/_1mT41fmjCysm
https://dl.doubtnut.com/l/_eQCvuYKjp0gj

1 a® + x3
6a3 ad — x3
3

+C

1 a® —

) +C
6a3 a® + 3

D. None of these

Answer: B

o Watch Video Solution

24./ dz — 7
(3 — 2z — x?)

A 11 3+x
'Zog3—:c

8 11 1+2
Zog

+C

- +C
1 3+ «x

.4log T +C

D. None of these

Answer: C



https://dl.doubtnut.com/l/_eQCvuYKjp0gj
https://dl.doubtnut.com/l/_rPZWvZuUNNgv

| & Watch Video Solution

25, / dz — 7
(cos2 r — 3sin? a:)

4 1++/3—tanz
1 | |1—|—\/§tana:

. og
21/3 1 —+/3tanz

D. None of these

C

+C

Answer: C

o Watch Video Solution

2
cosec*T
26. /( de = 7

1—C0t2£l:)
1 1+ cotx
A —log| ———
2 08 1 —cotx +C



https://dl.doubtnut.com/l/_rPZWvZuUNNgv
https://dl.doubtnut.com/l/_ZNc4Vi3gJ0hw
https://dl.doubtnut.com/l/_JXzLCCItxVoB

B 11
.~ log

C 11
EOg

1+ cotx
1 —cotx

1—cotx
1+ cotx

D. None of these

Answer: B

+C

o Watch Video Solution

27. /d—m — 7
(422 — 1)

1 2z — 1

A logl o —

1 2z + 1
B.Elog r—
1 2¢ — 1
e

+C

+C

+C

D. None of these

Answer: C



https://dl.doubtnut.com/l/_JXzLCCItxVoB
https://dl.doubtnut.com/l/_GM8MxnllGkvi

| & Watch Video Solution

28. /de —?
(z — 16)

2

1 z°+4
A —1
40g\w2_4—|—0
1 2 + 4
B.1—610g\m2_4+0
C. —lo \w2_4—|—C
16 °' 2214

D. None of these

Answer: C

o Watch Video Solution

29. / dz — 7
(sin2 x — 4 cos? ac)

All
ZOg

—_— C
ta,nac+2‘Jr


https://dl.doubtnut.com/l/_GM8MxnllGkvi
https://dl.doubtnut.com/l/_o4hLNUBdvNzU
https://dl.doubtnut.com/l/_LaMbjlNSOY8p

tanx + 2

B. —log Pr——1

+C

C 1l
ZOg

1 —tanx
1+ tanx

D. None of these

Answer: A

o Watch Video Solution

30. / dz — 7
(4 sin® z + 5 cos? a:)

1 t
A —tan~ 1 22BT +C
2 V5
1 t
B.—tan ! ang +C
NG NG

1 4 2tanz
C. tan +C
21/5 NE

D. None of these

Answer: C



https://dl.doubtnut.com/l/_LaMbjlNSOY8p
https://dl.doubtnut.com/l/_beWlhHOgBvLf

O Watch Video Solution

sinx
31. / der =
sin(3x)

1 V3 + sinx
. 2\/5 \/§—sina:
1 V3 + cosz

. 2\/5 \/g—cosm
1 V3 + tanz

‘ 2\/5 \/§—tanm

D. None of these

Answer: C

+C

+C

+C

o Watch Video Solution



https://dl.doubtnut.com/l/_beWlhHOgBvLf
https://dl.doubtnut.com/l/_I7GLZOCJW59P
https://dl.doubtnut.com/l/_Ru6gUuGykGsL

1 2_1
B.Etan1<x >+C

V2
C. Ltan_1<m2+1> +C
V2 x2 —1

D. None of these

Answer: B

o Watch Video Solution

Objective Questions li

D. None of these


https://dl.doubtnut.com/l/_Ru6gUuGykGsL
https://dl.doubtnut.com/l/_Tk2dUbIj2Qjf

Answer: C

o Watch Video Solution

1

A. §Sin_1 % + C
1

B. Zsin_1 % +C
1

C. Esin_1 % +C

D. None of these

Answer: A

o Watch Video Solution

3. COS T _ 9
4 2

—sin“x


https://dl.doubtnut.com/l/_Tk2dUbIj2Qjf
https://dl.doubtnut.com/l/_gU73UUGSuSDK
https://dl.doubtnut.com/l/_1SsSx1rYOW2H

A.sin ! z +C
2
1
B.sin ! <§cos m) +C

C.sin~ }(2sinz) + C

1
D.sin ! (asinm> +C

Answer: D

O Watch Video Solution

X
4, /2—dm = ksin~ ' 2% + ¢, then k =

V1—4*

A.sin”'(2%)log2 + C

sin~!(2%)

C
log 2 *

Csin Yz —1)+C

D. None of these


https://dl.doubtnut.com/l/_1SsSx1rYOW2H
https://dl.doubtnut.com/l/_IRIFTHrf0VAL

Answer: B

o Watch Video Solution

_r,,/d_“C
V2z — 22
Asin” Yz + 1)+ C
B.sin !(z — 2) + C
C.sin ‘(z —1)+C

D. None of these

Answer: C

o Watch Video Solution

6. Evaluate / dz

V(1 — 2x) .


https://dl.doubtnut.com/l/_IRIFTHrf0VAL
https://dl.doubtnut.com/l/_inYCipMGjJtm
https://dl.doubtnut.com/l/_KGeqdJihGmVk

1
A ——sin '(2z — 1) + C
V2

1
B. —sin ‘(22 +1) + C
7 ( )

c = in"'(4z +1) + C
. ——S1n X
V2

1
D. —sin (42 — 1) + C
7 ( )

Answer: D

O Watch Video Solution

32
7. | ———dzx
v9 — 16x6

1 43
B. Zsin_1 <%> + C

3
C.4sin~ ! (%) +C

D. None of these


https://dl.doubtnut.com/l/_KGeqdJihGmVk
https://dl.doubtnut.com/l/_oNXMYhjQFRpY

Answer: B

o Watch Video Solution

8./ dz —?
V2 + 2x — x2?

-1
A.sinl(a:\/§ ) +C

-1
B.sinl(:}:\/§ ) +C

C.sin 'y3(z —1) +C

D. None of these

Answer: A

o Watch Video Solution

9. Evaluate:

/ 1
V16 — 6z — x2

dx



https://dl.doubtnut.com/l/_oNXMYhjQFRpY
https://dl.doubtnut.com/l/_GEjOPj5ZEHBW
https://dl.doubtnut.com/l/_pUfH2OL0BgEp

-3
A.sin_l(m >—|—C

B.sin_l(x 3) +C

1
C. gsin_l(m +3)+C

1+ on

(S

D. None of these

Answer: B

O Watch Video Solution

dx .
10. [——— is equal to
Vo — x?

Asin Y(z — 1)+ C
B.sin '(z + 1)+ C
C.sin '(2z — 1) + C

D. None of these


https://dl.doubtnut.com/l/_pUfH2OL0BgEp
https://dl.doubtnut.com/l/_VGElakZVfRJv

Answer: C

o Watch Video Solution

11./ dz
V14 2z — 322

A. —sin + C
V3 2

1 . 2:1:—1)
B. —sin +C
V2 2

1 2 1
C. —sin~ ! Tt ) +C
NE 2

D. None of these

Answer: A

o Watch Video Solution

12. /d—m — 7
vz —16


https://dl.doubtnut.com/l/_VGElakZVfRJv
https://dl.doubtnut.com/l/_Bh6iNwrB39LL
https://dl.doubtnut.com/l/_XJWYwaEfqF9O

T

A. sin_l(
4

B.log’a: + v x? — 16’ +C
C. log’w — z? - 16’ +C

)+cC

D. None of these

Answer: B

O Watch Video Solution

3. /d—”:
VazT =9
A %log‘%c + /42> =9 + C
B. %logpx + V427 =9+ C
C.log|2z + /42> — 9| + C

D. None of these


https://dl.doubtnut.com/l/_XJWYwaEfqF9O
https://dl.doubtnut.com/l/_f41nWzJuWmOg

Answer: A

o Watch Video Solution

1 _

A.Elog:c3+\/w6—1 +C
1

B.glogac?’—k\/mﬁ—l +C
1

C.glogw?’—\/x(;—l +C

D. None of these

Answer: B

o Watch Video Solution

sinx
15. Evaluate:/ dz
Vidcos?zx — 1


https://dl.doubtnut.com/l/_f41nWzJuWmOg
https://dl.doubtnut.com/l/_2XATm4FEHcg3
https://dl.doubtnut.com/l/_uOlH341TNECP

1

A.—Elog 2cosx + /4cos’x — 1‘ +C
1 2

B.—glog 2cosx + \/4cos“x — 1‘ +C
1 2

C.—glogcosw + v/ 2cos“x — 1‘ +C

D. None of these

Answer: A

O Watch Video Solution

sinx

dx
Vdcos?x —1
sec?
||)/
\/ta,n T —

16. Evaluate : (i) /

A. log‘tana: — /tan’z — 4‘ +C
B. log‘tana: + y/tan®z — 4‘ +C
C. %log(tana: + \/tan2 x — 4( +C

D. None of these


https://dl.doubtnut.com/l/_uOlH341TNECP
https://dl.doubtnut.com/l/_uqrOcw2abPNB

Answer: B

o Watch Video Solution

17./d—’” =7

1— e

e” + /e —1|+C
B.logle " ++/e ¥ —1|+C
C.—logle "+ e ¥ —1/+C

A log

D. None of these

Answer: C

o Watch Video Solution

18./ dz
Va2 — 3z + 2


https://dl.doubtnut.com/l/_uqrOcw2abPNB
https://dl.doubtnut.com/l/_juk1yQfevgLz
https://dl.doubtnut.com/l/_R7GptlgnBYCk

3
A.log (w—§)+\/x2—3x+2'+0

B.log| + /2" — 3z + 2| + C

C.logm+\/m2—3m+2’+0

D. None of these

Answer: A

O Watch Video Solution

CoS T
19. Evaluate:/ dz
sin?xz — 2sinz — 3

A log|sinz + +/sin’z — 2sinz — 3’ +C

B.log|(sinz — 1) 4 +/sin’x — 2sinz — 3( +C

C.log|(sinz — 1) — y/sin’z — 2sinz — 3‘ +C

D. None of these


https://dl.doubtnut.com/l/_R7GptlgnBYCk
https://dl.doubtnut.com/l/_H05w1dN18ins

Answer: B

o Watch Video Solution

2&/ dz — 7
V2 — 4z + 22

A.log(m—2)+\/m2—4m+2(+0

B.loga:+\/x2—4zr:—|—2‘—|—0

C.logx—\/x2—4x+2‘—|—0

D. None of these

Answer: A

o Watch Video Solution

ZL/ dz — 7
Va2 +6x +5


https://dl.doubtnut.com/l/_H05w1dN18ins
https://dl.doubtnut.com/l/_AAhQqTUd82jY
https://dl.doubtnut.com/l/_JX4cPSD8KOFY

A.log:c—i—\/x2—|—6:c—i—5‘+0

B.logw—\/a:2+6w+5‘+0

C.log(m—3)+\/m2+6m+5‘+0

D. None of these

Answer: C

o Watch Video Solution

22. / dz

\/(33—3)2—1

A.log(m—3)+\/w2—6w+8‘+0

B.log:c—i—\/a:2—6:c—|—8‘—|—0

C.log(w—3)—\/x2—6m+8‘+0

D. None of these


https://dl.doubtnut.com/l/_JX4cPSD8KOFY
https://dl.doubtnut.com/l/_sTMw6Iu8A7G1

Answer: A

o Watch Video Solution

23./ dz
Va2 — 6z + 10

A logz + +/z —6m+10‘ +C

B.log|(z — 3) + /2% — 6z + 10 + C

C.logac—\/xz—ﬁx—l—lO’ +C

D. None of these

Answer: B

o Watch Video Solution

72
24. /—dm
/76 — b


https://dl.doubtnut.com/l/_sTMw6Iu8A7G1
https://dl.doubtnut.com/l/_F68Bz0rH8mZh
https://dl.doubtnut.com/l/_J2A7MHRE5kl0

1

1
3

6 6
A Flog|z® +a’| + C

3
B. —tan ' (w_g) +C
a

C. élog‘mg' + \/286 + aﬁ‘ +C

D. None of these

Answer: C

o Watch Video Solution

sec2 T

25.Examples: / dx

A log

B. log

C.log

\/16 + tan®z

tanx + \/tan’ z + 16‘ +C
T + \/ta,nzaz—l— 16‘ +C
tanx — \/tan2:c + 16‘ +C

D. None of these



https://dl.doubtnut.com/l/_J2A7MHRE5kl0
https://dl.doubtnut.com/l/_dkgJiEV4fY48

Answer: A

o Watch Video Solution

26. Evaluate / dz dzx.
V3z2 + 6z + 12

A.log‘(m+1) + \/m2+2m+4( +C

1
B. §10g‘(:c—|—1) + /x? +2x—|—4’ +C
C. L1og)(:c+1) +V2?+ 22+ 4 +C
V3

D. None of these

Answer: C

o Watch Video Solution

i

27./ d
V22 + 4z + 6



https://dl.doubtnut.com/l/_dkgJiEV4fY48
https://dl.doubtnut.com/l/_2fTWiQypWNvo
https://dl.doubtnut.com/l/_k0pKTbLDDQnB

1
A. Elog‘(sc—l—l) + —|—2:c—|—3‘ +C

1
B. —log|(z + 1) + v/z? +2x + 3| +C
Lo+ + T

C. %bg‘mdr \/m2+2x+3‘ +C

D. None of these

Answer: B

° Watch Video Solution

A %log‘(x?’—kl) + /2% + 223 +3’ +C

B.log‘:c3 + \/2136 + 22 + 3‘ +C

C. %log((:p?’—l—l) — 2% + 248 —|—3’ +C

D. None of these


https://dl.doubtnut.com/l/_k0pKTbLDDQnB
https://dl.doubtnut.com/l/_pbDXixxNaJTS

Answer: A

o Watch Video Solution

29. Write a value of/ 4 — 22 dx

A.%\/4— 22 + 2sin~ ! % + C

B.z 4—x2+sin_1%—|—0

1
C. Ew\/4— z? — 2sin~ ! % +C

D. None of these

Answer: A

o Watch Video Solution

30./ 1 — 92%dz = ?


https://dl.doubtnut.com/l/_pbDXixxNaJTS
https://dl.doubtnut.com/l/_zCONYzgpD0wJ
https://dl.doubtnut.com/l/_1ww6guDZpGbJ

1
A.£ 1—9z2+ —sin" '3z +C

2 18
3 1
B. ?x 1927 4 <sin '3z + C

1
C.% 1— 922 + Esin_13m+0

D. None of these

Answer: C

o Watch Video Solution

31. /\/9 — 4z’dx = ?

9 2

A.% 9—43:2+Zsi11_1?w—|—0
9 2

B.x 9—4$2+Zsin_1?w—|—0

9 2
C. %\/9 — 4x? — Zsin! e + C

1 3

D. None of these


https://dl.doubtnut.com/l/_1ww6guDZpGbJ
https://dl.doubtnut.com/l/_Q3NnqDae8FEq

Answer: A

o Watch Video Solution

32./005:13\/9 —sin’z +dz = ?

1 —— 9 i

A —sinx\/Q — sin®z + —sin~! (sma:> +C
2 2 3
sinx 9 i

B. 5 9—sin2as—|—§sin_1<su?:x> + C
1 — 9 i

C. 5 008 x\/Q —sin’z + Esin_1 (sn;:z:) +C

D. None of these

Answer: A

o Watch Video Solution

33./ 22 — 16dz = ?


https://dl.doubtnut.com/l/_Q3NnqDae8FEq
https://dl.doubtnut.com/l/_BzCCUBUfAeWl
https://dl.doubtnut.com/l/_ec8TAuURX0vK

A zy/z?—1 —4log)x—|—\/x2—16‘—|—0
B.%\/:cz—l —810g’x+\/x2—16)—|—0
C.%\/ar:2 — 16+810g’:1: + \/:c2 — 16) +C

D. None of these

Answer: B

° Watch Video Solution

34./\/332 —4dx + 2dx = 7

A

—_

5(w—2)\/m2—4x+2—|—10g)(a;—2)+\/a:2—4:13—|—2‘+0

(:c—2)\/x2—4a:—|—2+%10g)(w—2)+\/x2—4w+2‘+0


https://dl.doubtnut.com/l/_ec8TAuURX0vK
https://dl.doubtnut.com/l/_CKo4k5vnsguy

—_

5(w—2)\/w2—4m—l—2—log)(w—2)+\/a:2—4a:—|—2 +C

D. None of these

Answer: C

o Watch Video Solution

35, / 922 + 16dxz = ?

A. % 9z2 4 16 + §1og)3x + 1/92% + 16\ +C
B. %\/9332 + 16 — glog)&n + /9% + 16\ +C

C.z/92% + 16 + 2410g’3m + \/9:1;2 + 16’ +C

D. None of these

Answer: A

| & S |


https://dl.doubtnut.com/l/_CKo4k5vnsguy
https://dl.doubtnut.com/l/_FsY4c7fn9fiD

[ @ Watch Video Solution

36. /em e + 4dx = ?

1 _
A 56””\/62‘” +4 — 2log

1 _
B. Eex\/ez‘” + 4+ 2log

1
C.e®\/e*® +4 + Elog

D. None of these

Answer: B

em+\/ezw—|—4( +C
e + /e + 4+ C
e + /e +4+C

o Watch Video Solution

de = 7

. /\/16 + (logz)?

W


https://dl.doubtnut.com/l/_FsY4c7fn9fiD
https://dl.doubtnut.com/l/_x6gjQZJh4Irx
https://dl.doubtnut.com/l/_cO9ExRj4Vt36

1 2
Elogaj. \/16 + (logz)” + 8log

logz + \/16 + (log:c)z’ +C

1 2
Eloga:. \/16 + (logz)” + 4log

logz + \/16 + (logac)z} +C

1
Elogm. \/16 + (logz)? + 161og|log z + \/16 + (logz)?*| + C

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_cO9ExRj4Vt36

